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School Written and Mental Calculation Policy
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EYFS — Progression of Resources

Autumn

Spring

ooo@ee® oj|1]l2||3]{17)l18 A e
@00 @® | 5|7 vl Lg woe B
Summer @llolellE]lE)
©)

&




Addition

Subtraction

EYFS/Year 1

Children use concrete objects and pictorial representations

N, Ny, O e Ve MEe
recorded as:
2+3=5

Begin to use base 10 to represent addition questions

2+2= 12+2=

LT L] 1

O O O
Introduction of bar model and part-part-whole diagrams:
@ @ —

EYFS/Year 1

Children use concrete objects and pictorial representations. Might be

LGN QNS recorded as:
&8 8 5-2=3

Begin to use base 10 to represent subtraction questions

2-2=0 12-2=
Z 4
74| HIZ

Introduction of bar model and part-part-whole diagrams:

N

Year 2
Using number lines to count in ones BN cddn  wiE B
134518 ONONONINEN
13 1 15 16 17 18

Partitioning in different ways and recombine
47+25

60+ 12

Leading to exchanging

- I W)= iy -

Year 2 4 g ok or A

Using number lines to count back in ones. /\/\/\/\/\
13-5=8 M a 10 ' 12 i3
Moving to jumps of 10: Subtract without exchange / with exchange
47-33=14 42-31=11 32-16=

101 10 -10 W
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3B 36 7 47
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Addition Subtraction
Year 3 Year 3
(add numbers with up to 3 digits using formal written methods of column (Subtract numbers with up to 3 digits using formal written methods)
addition)
Use efficient jumps (can also jump -3 in | Use efficient jumps (can also jump in 10/1s)
10/15s) +1 2 Taking away 84 -36=48
47+35= 82 g y ¥ 1 - 30
47 7i & &

Use of bar model to understand structure of addition

78 45
123
Moving towards a written
method: 156 + 285 = 441
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zgu 213 ! D =
107+ 20+ 5
300+ 60112 - 372 4 4 1

Show exchanging using
manipulatives such as base 10 or
place value counters. Show
pictorially in a place value chart to
support addition column method.
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Moving towards a written method:

eee® P00
e®® ©@| e | © _—
90 8 @ -..' [176-64 =
' -30 5 ® “\l | s
s 50 3 e
®® :
*® 90 L

463 - 127 = 336
HIT |O
45&13

=1112 |7
3|36




Year 4

(add numbers with up to 4 digits using formal written methods of column

addition where appropriate)

Compact written method:

Year 4

(Subtract numbers with up to 4 digits using formal written methods of

columnar subtraction)

Subtracting by adding (counting up from the smaller number to the larger)
436 -389 =47

- Th H|'T |0
SR 245 g 7483 - 2736 =4747
7 1 5 1 3 7 2 Th HT o Follov;nng o: fcrl'om
T PYR N T ear 3 methoeds to
. > 6 1 8 4 67 14 78 13 zubfmc?ddlgn
T +2736 |rmbwn
ﬁ7 4 exchanging.
Addition Subtraction

Year 5 and Year 6

(add whole numbers with more than 4 digits using formal written
methods of column addition. Add decimals including a mix of whole
numbers and decimals, decimals with different numbers of decimal places

and compliments of 1)

Decimal point to
be put in its own
square

T O.;_o fé—ofo%o
Tth Th H T O {;2“;56
2945 v13:785
+ 34738 o
64 184
t 1 1 Tl o e

42+ 5 0-
+ 3785

4 6¢7 3 5
t 1

Place O in decimal
columns, to show
an understanding
of a value of 0 not
nothing.

Year 5 and Year 6

(subtract whole numbers with more than 4 digits including using formal written

methods. Subtract decimals including a mix of whole numbers and decimals,

decimals with different numbers of decimal places)

1
T O.fb;él_—

%2995 6
[1]3+7/8/%
1

78426 - 34752 = 43684
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%42°9'5°0
34715

39235

Decimal point to
be put in its own
square

T O®y jop i

Place O in decimal
columns, to show
an understanding
of a value of O not
nothing.




Multiplication

Division

Year 1
Pupils use concrete objects and pictorial representations
How many socks in three pairs?

¥ 33p3 1l NI

3 lots of 2

Use of number lines to support counting

Begin to use tens and ones to represent multiplication

3x2-=

Ol Ol O
Ol O |

Year 1
Pupils use concrete objects and pictorial representations to show groupings
6 cakes are shared between 3 people. How many cakes does each person get?

whidud dd )

Year 2

Arrays and repeated addition

6x4 or 4x6
There are four apples in each box. E;H E;H mm E;H E;H
DIBIDIDITID)

How many apples in six boxes?
Include bar models to represent multiplication:
6 6 6 | have 3 packs of
' ' 6 eggs. How
many eggs

altogether.

Year 2
Using concrete objects:
15+5=3
00000 o ® 0O
00000
00000 :

0 5 10 15
How many 5’s make 157?

Using the Bar Model to show
inverse operation:




Multiplication Division
Year 3 Year 3
(Write and calculate mathematical statements for multiplication using (Write and calculate mathematical statements for division using tables that they
tables that they know. Develop reliable written methods for multiplication | know. Develop reliable written methods for division starting by 2 digit by 1 digit.
starting by 2 digit by 1 digit. Progression to formal methods of short Progression to formal methods of short division)
multiplication)
13x4 | Use a Bar model to show division as breaking into groups:
x 10 3
000000000088 4rowsof10 4rowsof3 48+ 6= -
0800006600 506 _ . k .
0000000000900 [1x6=48 ] | | | | '
Move towards a more compact method: :
* T Y 4 rows of 13 Children should also move onto calculations involving remainders.
| E— | 13x4 13+4=3r1
| ——
- 10x4=30 4 4 4 4
[ m o] 3x4=12 S S N
0 4 8 12 13
Progress to partitioning 69 - 3:=-23
Tens Ones 21 x 4 = 84 using a grid method
Use ploce wise Tens Cres
O 42 x3 =126 it el i S 000 48 -3 =16
@) 4x1=4 — o) |9 @ O
G 4 X 20 = 80 xl 40 | 2 :'"':::: i .‘ : .' ) g g g Use multiple of 10 focts
O 80+4:=84 — oo/ Y
3(120| 6
Use a place vﬁa chart and Partition nlno tens and ones then 42 + 3= 30 1 8
manipulatives o model multiplying multiply, adding up the products. ™ .
120 + 6 = 126 Joeeses 20+3=10
Recognee that you Teare Ores
reed to 2xchange 18 +3=6
ulull')lm'wli ) m 10+6=16
0000 48 +3 =16
0000




Multiplication

Division

Year 4
(Multiply 2 and 3 digit numbers by a 1 digit number using formal
written layout. Become fluent in using short multiplication)

245 x 4 = 980
e T — x| 200| 40 | 5
0 00000
) 00000 4800 | 160 20
L)
800 + 160 + 20 = 980
38
30+$ % 7
x
210 30x7=210 2;2 _ 30x7=210
56 8x7= 56 ﬁ'\ﬂovmgtor 8x7= 56

266

Move onto this method as soon as ladder is understood
38

X_7 As soon as possible

266
5

Year4
(Divide 2 and 3 digit numbers by a 1 digit number using formal written
layout. Become fluent in using short division)

Multiples of the divisor

R+7=14
x7=70
7= 128

Exchange one 10
for ten 1s'




Multiplication Division

Year 5 Year 5
(Multiply numbers up to 4 digits by a 1 digit or 2 digit using formal written (Divide numbers up to 4 digits by 1 digit using formal method of short division
method including long multiplication for 2 digit numbers) and interpret remainders appropriately for the context)
Formal method of multiplication
132 x4 = 3168

Use place value counters and a place value

chart to support understanding of the
43 m short division method where needed.

w
B

2
* 8 1/3:{2
15 (3x6) X 7 x 24 4892 =+ 4= 1223
_ 240 (40 xE) 2 3 9 4 5 2 8 iz:xa
258 2 1 +2 6 4 0_ pazx
3168 [t
! NG by o
(10 browes Digggen)

4894 + 4 = 1223

IDividing with remainders |

by L]
e 8s - § 1223
a f 44894 r2
@O =
432 +5=86r2
(estimate: 400 + 5 = 80)
8 6 r2

= Divide numbers up to 4 digits and decimals with 2
54 3 2 decimal places.




Multiplication

Year 6

(Multiply numbers up to 4 digits by a 2 digit number using formal written
method. Multiply 1 digit numbers with up to 2 decimal places by whole

numbers)

Th H T O Decima.l ppintto
be put in its’ own

1 3 2 square

X 2 4
1 1
5,28 TO"Tg_mg
*2 640, 304 |e]2]6
3/1 68 6
2 05 ® 56
2 1 3

Division
Year 6
(Divide numbers up to 4 digits by 2 digit using formal method of long division and
interpret remainders appropriately for the context, as fractions or by rounding.

Divide decimals by 1 digit whole number, initially in practical contexts involving
measure and money)

““manders can be shown as

5 ! Mu[(iples to Hglp lecimal or a quotiont
3744 + 16 = 234 o :
3x16=438 637 + 4 =159 5
4x16 =64 :
2 3 4 5x16=80 1 5 g :': '-\vvv'n’l:n‘;mu:h
16[3 7 4 4 [6%%7  [mmateser
-13]2]]
5 4 637 + 4 = 159.25
- 4 8
6.4 1S e S
- 164 ie
0 " Do vt aral part vitn e
8264 -5 = 165.28 Decimal point to
1 : be put in its’ own
1 square
6 5 ® 2 8 Continue resmainders into the

5 I 8 .:"2 26 .?4 40 next decimal place collumn

(maximum of 3 decimal places)




